
The Case of the Missing Numbers - Episode 3 Name: 

Can you help Scooby Doo and the gang solve the case of the missing 
numbers? 

Help them by filling in the missing numbers to help solve the mys-
tery. 

 

 5 x          x 2 = 40 

÷ 8 = 10 

9 x 4 =  

56 =         X  8 

X 2 X           = 54  

48 =             x 2 

72 ÷ 8 = 

X 4= 28 

48 ÷           =  12 

 

40 x 2 x            = 160 

÷ 10 = 4 

80 ÷ 4 = 

12 x 4 ÷         = 24 

÷ 4 = 6 

12 x 8  ÷            =24 

32 = 4 x 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Use a multiplication sheet to check 

your answers. 

Can you make some of your own 

missing number sentences? 

 


